

Soyoun Kim

Math 331

3/28/2012

58 A

59 A

$$P(X=0) = P(X=1) = 0.$$

$$58. \quad P(X=k) = b^{k-1}g + g^{k-1}b$$

$$k = 2, 3, \dots, n, n+1, \dots$$

$$E(X) = \sum_{n=2}^{\infty} n \cdot (b^{n-1}g + g^{n-1}b)$$

$$\sum_{n=1}^{\infty} nX^{n-1} = \frac{1}{(1-X)^2}$$

$$= g \sum_{n=1}^{\infty} nb^{n-1} - g + b \sum_{n=1}^{\infty} ng^{n-1} - b$$

$$= \frac{g}{(1-b)^2} + \frac{b}{(1-g)^2} - (g+b)$$

$$= \frac{1}{g} + \frac{1}{b} - 1$$

$$\text{Var}(X) = E(X^2) - E^2(X)$$

$$E(X^2) = \sum_{n=2}^{\infty} n^2 (b^{n-1}g + g^{n-1}b)$$

$$\sum_{n=1}^{\infty} n^2 X^{n-1} = \frac{1+X}{(1-X)^3}$$

$$= g \frac{1+b}{(1-b)^3} + b \frac{1+g}{(1-g)^3} - 1$$

$$= \frac{1+b}{g^2} + \frac{1+g}{b^2} - 1$$

$$\frac{2}{g} + \frac{2}{b}$$

$$\text{Var}(X) = \frac{1+b}{g^2} + \frac{1+g}{b^2} - 1 - \left(\frac{1}{g^2} + \frac{1}{b^2} - 1 + \frac{2}{g} + \frac{2}{b} - \frac{2}{gb} \right)$$

$$= \frac{b}{g^2} + \frac{g}{b^2} - 2$$

$$\sigma(X) = \sqrt{\frac{b}{g^2} + \frac{g}{b^2} - 2}$$

$$59. \quad b = \frac{1}{2} \quad g = \frac{1}{2}$$

$$E(X) = \frac{1}{g} + \frac{1}{b} - 1 = 2 + 2 - 1 = 3$$

$$\text{Var}(X) = \frac{b}{g^2} + \frac{g}{b^2} - 2 = 2 + 2 - 2 = 2$$

$$\sigma(X) = \sqrt{2}$$

$$b = \frac{1}{3} \quad g = \frac{2}{3}$$

$$E(X) = \frac{1}{g} + \frac{1}{b} - 1 = 3 + \frac{3}{2} - 1 = \frac{7}{2}$$

$$\text{Var}(X) = \frac{b}{g^2} + \frac{g}{b^2} - 2$$

$$= \frac{\frac{1}{3}}{\left(\frac{2}{3}\right)^2} + \frac{\frac{2}{3}}{\left(\frac{1}{3}\right)^2} - 2$$

$$= \frac{3}{4} + 6 - 2$$

$$= \frac{19}{4}$$

$$\sigma(X) = \sqrt{\frac{19}{4}} = \frac{\sqrt{19}}{2}$$